3 Al

CHRI(BI) - HISALY - BIAS Ao gggf; HRS2
5,509,439 4,595,094 914,345
4,884,967 4,238,170 646,797
AL (NEANDEEFH) 1,079, 105 769,662 309, 443
HIAJNA 207,439 132,406 75,033
6,743 6,743 0
SZ2ANSES 6,743 6,743 0
QUL HUXA QR
39,660 x15H x10 5,949
QUL MM Y oy
39,660& x2H *10L 794
2gh| 43,742 42,342 1,400
AFR 22| H] 37,792 36,392 1,400
Odet=2H| 25,920
—J|2ARESHI 100, 000& x25H 2,500
—J|23AEaEHI 150,000& *13] 150
—=SAMNEXN 2L 20,000& 108 A %123 2,400
—=2AD] X2eH(EYH 2 )
350,000& x 1L *x63] 2,100
—Ze2tE A IIEZIAX 250,000& *43| 1,000
—DAES) EH 2L 110,000 = 1CH 23] 220
—NSFRLIREZ MG LFE SIHES2
g4z =2 2,000& 15024 x25 600
—NERLYREHE2 ML LRSI =2
3,000& *150A4 450
—EZ3AZ AIlLHHA OHUHE HIZ
500& x10,0000H 5,000
—EAlLSE SHAI IR HZHUHE ME
50& *20,000%23] 2,000
—E8A 22 S HE 5,000& *1,60004 8,000
—35l2 ZHMIIH200HA) L EHAl THEO0IRAl
A(100H4A) sgHdRcts Z2iotE &
50,000& *30H A~ 1,500
P 2,800
~DEANHHIANE £+
70,000& x 10 *23| 1,400
—SUFEIFUASHAT AR ST
70,0003 x10H *23| 1,400
OZ &l 9,072
_DSYIALEA S2HAY)
7,000& x18H 63| 128 9,072
02 =24l 5,950 5,950 0
O3322 2 HA 5,950
~NERYRLYI RY(SEH)S)| 2WE
1,750& #8002 *33] 4,200
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OMQIEAl &l ST FH ol
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405 X+ &HF S| 16,390 0 16,390
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101 Q1214 116,025 295,038 A 179,013
04 JIAH2EXS 116,025 295,038 A179,013
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—FEay 45,5509 *3% +52 7,106
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201 Yet2ey| 262,238 170,815 91,423
01 At 22t 59,214 41,514 17,700
OETETER =1t 38,008
—EY F=IX o5 02 NI MR
80! *4,00004 * 122 3,840
—SYUEI BEHR SBEX
1002 %5,0000H * 122 6,000
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M DEsHI|H
tel: NESHFLXNEAS (RSALSESH) (et =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
— =X SEIE EOIHuAM & X2l
800,000& *7CH 5,600
—=28FEI SHEXE cctv RAIE 24|
3,960, 000& *2CH 7,920
—SYEYT DER AU YRAAY 2
2t 419, 100& 128 5,030
—PDA HEAIAE R X2 |
396,000 «12& 4,752
O==l 39,102
—SELAINN(ER) 1,790 #4CH*10 4 *300L! 21,480
—5S(JER) 1,958 & *3CH*10 £ 300 17,622
202 (44| 21,549 19,149 2,400
01 SLHAHbI 21,549 19,149 2,400
SHEHT O U2 HHS B V24T
o A 261,000& 3% *33| 2,349
O=8=8x ANHs 2504
10,0003 x8H+20L x12& 19,200
301 LErE AR 1,500 1,500 0
12 J|Et2 43 1,500 1,500 0
OmaAcIxE 243 150, 000& *10CH 1,500
405 KtatE = 315,200 95,000 220,200
01 MY SZHEHI 315,200 95,000 220,200
OXEEME SXNAIAE BEHZ S AIAE
- 15,200,000& * 14! 15,200
OSYF=F = CCTV AXI(MBC & S 6)H2A)
50,000,000& *64! 300,000
ME=FSYR = 15,754 15,754 0
201 YBt2 A H| 15,754 15,754 0
01 AR 2t eld| 15,754 15,754 0
Oget=8gH| 6,640
—WEHNEE EHIIE HME(2)
50,0003 »40Hx62 1,200
—H2 AU SE=EUY E2= A 2,440
Eaciste(d) 110, 0002 *201 23] 440
Edidt= (L) 50,000 =80H x23] 800
U2HE () 50,0003 *12JH 23] 1,200
—olH IIME SE=ZUM 222 HE 840
EcHot=(CH) 110, 000& 404 A 440
Eaidte(L) 50,0003 *8H 400
—suHE O 0TV HE ABE
60,0003 +32] & 123 2,160
O=&l 9,114
—SwasUn(g,24) 228 32
7,000 x31H 241 x62 2,604




SN DEHHDY
HE: DSAWM
S DEHFUXNCAY (LSALSHSIH) (25l &2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o B2
—2Z YAHEHE) RESH 22X S|
7,0002 %312 %24l %152 6,510
DSOH o TN S 29,000 0 29,000
207 AR 29,000 0 29,000
NEEEET 29,000 0 29,000
ONEYUR OISH ZFHE +2U8Y
29,000,000 14! 29,000
NLHEDEN 28 110,400 0 110,400
207 AR 110,400 0 110,400
NEEEET 110,400 0 110,400
OR2ANYUHSRENE 228
110,400,000%14} 110,400
DEFAIL BRI (DS SESIH) 404,320 323,900 80,420
DEMBS e 155,394 130, 194 25,200
201 YEr2gy| 155,394 130, 194 25,200
01 A2 22l 28,620 28,620 0
OUBE FIIAHFY +42
70,0002 #2664 2 18,620
OS8AaI5)] B2 248 50,0008 +2000H A 10,000
02 ZZ2YH| 126,774 101,574 25,200
ONEMES ®IIQ3
22301 %350, 000k 122 *90% 84,204
ONSHS M3l 0|82
40,0002 1674 4 * 122 7,680
OCCTV SXEL23 30,0008 +700 £ 128 25,200
OYMHO HMgslH 0|82
400,000 %20 4 x 122 9,600
s2y 2o 177,000 129,000 48,000
401 Al HIL 2 TH b 177,000 29,000 48,000
01 Al& 8] 177,000 29,000 48,000
OMMHA SLF Y= Ua
48,000, 0002 * 144 48,000
OMMHA STH YEZ= B4
1,400, 00021 %1074 2 14,000
OAUHA SEA 52F &X 2 DA
9,000,0002! #1074 2 90,000
OANUMA RMA 22 81 L DA
4,000,0002 ¥5H 2 20,000
OANUBIA S2F SXR2I 100,0008 %500 A 5,000
=XE 2ol 71,926 64,706 7,220
201 YEr2gy| 71,926 64,706 7,220
01 At 22l 25,710 35,930 £10,220




SN DEHH D
HE: DSAWM
S DEOFALBR(DEMLSEE) (25l &2
HEE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
Osr+gt| 13,330
—F o 3,000 *4002 1,200
—FNE SYSE PY(FTA MYIIBES
) 50,0002 *67H A 122 3,600
—FERE W20 UUE 20,0002 <20 128 480
—FNE 228 23S ()
110,00024 %1074 1,100
—FEIUY UNRA ALAY BDE
1,650, 0002 37H At 4,950
—EXLY QINRA LB £42
2,000,002 *14} 2,000
O 2| 1,680
—2E YA EH S FXE el 22K 2
2| 7,000 +8% 24! 152 1,680
oYz 0,000
—SYFXY YRE 10,000,002 * 14! 0,000
osg+g 700
— FXEY ANRA MY 4+
70,0002 10 700
02 ZZS Y| 46,216 28,776 17,440
OZZ22 2 MA 42,616
— X FIIMEE 190,000 150 4 128 34,200
—ERE MEAETE 60,0008 %60 4 x 128 4,320
—DYFXE WA BHE Ot
512,000 «87H 4,096
CNEETES 3,600
—FXF MRS 42l 2000008 <05 *20% 3,600
DEOFALSHE(DSAYSLSIH) 3,401,542 3,144,608 256,934
VEHNEEEERST 400,000 1,600,000 1,200,000
401 A EHIL2 Y| 400,000 1,600,000 A1,200,000
01 Al&H| 398, 560 1,594,960 A1, 196,400
OO0RI0IE ST JHA AR 398,560,000 14! 398, 560
03 Al& 2 ChH] 1,440 5,040 3,600
OO0RI0IEE T TN A
400,000,000 1+0. 72%x1/2 1,440
NSS DM ¥ As 541,800 551,900 £10,100
401 Al &HIL 2 THHI 541,800 551,900 A10, 100
01 Al&t] 541,800 551,900 £10, 100
ONSAES M& U 0/&(DSAHYO I
=) 50,000, 00024 24 2 100,000
ONSASS =% HMoJl LA
10,000, 00024 *57H £ 50,000
ONSAES =2XF LA
20,000, 00021 *5H 2 100,000
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2N DNEHA D
M NSSAN
CHel: NEHTAILSHE(NEALSEEIA) (3
- _ _ P NE e
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao Om;g; Hl =2
Od3I Holg & A2 XIS
10,000, 000! x5 A 50,000
OB#ASE BXEI 5,600,000 14! 5,600
OAZZOHCl S84IED| WA
800,000 1002 80,000
OULEASE |KA&el ¥ D&ELLH
56,200,000 * 14! 56,200
OuxXzZga & AMSHHAAE E(NEHE
2ECCTV 10HA ,AMSHO 8HA)
100,000,000 * 14! 100,000
NWEHMAILS &R 391,000 382,500 8,500
401 A& H 220 391,000 382,500 8,500
01 Al&H] 391,000 382,500 8,500
OLNSEHMIEXT AL U B 26,500
—a A 300,000 %5571 & 16,500
-8 50,0002 x200H A& 10,000
OXEd AN 85,000 *4007H 34,000
okLHIEXY 25,0002 *1,000H 25,000
OuSHHACL JIZXY HEMAIEZ 4
50,000, 000 13| 50,000
Otz 2IAXHe nEALES AX
2,000, 0002 x20 7 & 40,000
OXtH & A4 14,0002 %2, 500 M 572 2+ 175,000
ORcac YGIALE X (HdsHM=2~T
HolH2l MuE) 135,000 *300m 40,500
=XHE XA 1,938,000 123,000 1,815,000
401 Al H L 20| 1,938,000 123,000 1,815,000
01 Al&H] 1,938,000 123,000 1,815,000
OFIE HYIZ FAHALE B2 HAALY
2,500,000 x 1070 & 25,000
OZY(SUI)Z=XIE oHLyE HIE
500,00024 %104 & 5,000
OA2RR SU=XE =4
10,000, 000 * 1074 £ 100,000
OLZEAAZ =XHE =AM 869,000,000 * 14! 869,000
OFxYY AN EBgd24LISHE 4+
24 36,000, 000% 14! 36,000
0oty =28 @ 25 =TUHEEZA 2X0HY
HI 893,000,000+ 14! 893,000
O24ds YAl FS=UE =4
10,000, 000! «14l 10,000
ol HI dl 130,742 487,208 N 356,466
801 Ol HIH] 130,742 487,208 N 356,466
01 OilHIH] 130,742 487,208 1 356,466




Ated

Jn

[=Z]
=2

to

X

M- B SR(B) - HRAY - BE S Ak e 2t
Oolldltl 130,742,000& 130,742
HY2IZU(LSHI ) 624,472 356,924 267,548
A2HUI(LSAMLSESA) 624,472 356,924 267,548
A2 HI( S s 624,472 356,924 267,548
101 @124 d| 624,472 356,924 267,548
01 2= 45,424 41,933 3,491
O=< 45,424
—EUFEIA HEW AAADRLY
8,078 x11H x20 Al 2+ 123 21,326
~DENY S22 FU2RLY(ZHY, T
HE) 60,853 x 11 +36 24,098
03 RIHAZZUHE S 579,048 314,991 264,057
Osg+=&8x o5& 447,406
— Q24| 45,5503 x18H 253 207,435
—&0= 207,434, 700& *4/12 69, 145
—2HIHe3 45,550 x8H x253 & *10% 9,220
— =l 80,000 x18H ~12& 17,280
—52€22+E
45,5503 x18H 3 12 *150% 44,275
—AZ2tRA2 RS 8,540Rx18H +x25A| 2+« 128 46,116
— =5 45,5503 x18H #6523 42,635
RPN S = 45,5503 x18H 5L 4,100
—JESOtd| 200,000& 18 »23] 7,200
O=Fxt&z2tel o2 131,642
= 39,660 x6H x253 60,204
—&03 60,204,000& *4/12 20,068
—2H0ta = 39,6603 5% 2532 *10% 5,017
— =&l 80,0003 x6H «12& 5,760
—5U2R2Y 59,400 +6 B #4L < 12E *1/2 8,567
—ANZ2AZ R 7,4362*30A1 2H+6H 122 16,062
—F=5xg 39,6603 x6H x52== 12,374
B PNy 39,660 x6H x5 1,190
—HEF Ot 200,000& x6H »23| 2,400




SN NEREZASA
HE: HYSSAYL 2Y
Sl MSHES QRAMHIA HZ(REALSHEH) (25l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
NEXHSSARL 311,421 253,996 57,425
NBESALL 29 153,888 128,445 25,443
NEXHSE ARMYIA HB(REASSEE) 153,888 128,445 25,443
NEXHSSARL FA ZH| 1,500 26,000 A14,500
401 A2 HIL 2O HI 1,500 26,000 A14,500
01 Al& ] 1,500 26,000 14,500
O AR LfoIs SMBA 6,500,008 18] 6,500
O NHSHESARL B2 Hy LT &3
5,000,000+ 14! 5,000
3t 2l 23,140 31,310 A8,170
201 YEr2gY| 10, 160 1,590 A1,430
01 AtR 22|t 1,220 1,000 220
oggr=gY| 1,220
—RUUXIXY, BYTEHANY LRI
SDE ZAS ME 110,000 57423 1,100
—SAY 2 BHRTM ME
60,0002 24 120
02 T2l 8,940 10,590 A1,650
ONSABY ALK S SI| 2BE
1,75021 3000+ 122 6,300
OBXAAEY KX LS4 220,0002 128 2,640
202 018 6,180 5,220 960
01 2UH0i b 6,180 5,220 960
ORSYR L LRI M2l 2201t
261,0002 x2 *53] 2,610
OMESE Tol WS WX AHAH el
o1t 261,000 x22 x53] 2,610
ORSHBEY ALY NT S ot
20,0002 x283 x243] 90
301 YBHBA S 1,800 1,800 0
12 JIEtR &2 1,800 1,800 0
OSSYXIXIZ AR N2 20,0002 «000H 1,800
307 212+0I & 5,000 5,000 0
VACIEIE PN S 5,000 5,000 0
ORAEIIN AR RS2 N
5,000, 0002 *13] 5,000
NEXVER 2 - Ba 119,248 71,135 48,113
101 Q1248 16,335 13,692 2,643
VPR EEPEERS 16,335 13,692 2,643
0 123 39,6602 +12§x25321 10,034
O ANZe2R4Y 7,436+25 A 24+ 122 2,231
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EA: NSXHSEAMNRL
U JYSSAYL 2
S ANSXHEE ANMHIA M2(LSAIEELESH) (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
O digas4d 39,6603 x1H*15 595
O =524 39,660& x1H x52 2,063
O 2tAlH] 2,000 *23| x253 1,012
O Y& SO 200,000 x1H x23| 400
201 L et2HAb| 87,381 42,711 44 670
01 AtR2t2lH] 15,191 10,9283 4,268
O I ZAF HEA M 50 *60000 x12& 360
O QR It HEA ME
602 70000~ 12& 504
O BAKXNA efzE 28 DXA ME
602 *3000H*12& 216
O QRS 01 Mels 28 XA ME
602 x6000H 122 432
O MEHE 2 DXA HE
B60& x5,00000x12& 3,600
O IEE XA &2 di0Id ZelH EY
2 237,000 =30 *63] 4,266
O 1OXA oletel E/280| A28 2
237,000& x 10 x4 3] 948
O MHE MY S otHWE ME
3,750& x50 12& 225
O gXxseEdH =g S
150,000& = 1CH=12& 1,800
O Mgetus HE 200& x10,0000H 2,000
O=&tl 840
_DEDEHE MUY AL =A =2
AlH] 7,0003 *5H 2«12 840
02 322l 72,190 31,788 40,402
O XNSXMEHE S 63,300
—-SJRE= 1,750 %2, 30000 = 12& 48,300
—gbteEz 250& x5,0000H = 12& 15,000
O XME=sEE (58 300, 000& = 1CH 300
O s3I se=2 80,000& *1CH *23] 160
O NsxEAE 30,000& *13] 30
O AdsE 3,800,000 =1CH 3,800
O GXAIAE KX 24| 300,000& x12& 3,600
Og9xxg =4 S 1,000,000& * 14! 1,000
202 o4 4l 11,532 6,732 4,800
01 2] 6,732 6,732 0
O Xsi HEZE My 8 % s MY
XheF S oLl ZHLHEE Y]
20,0003 *3H x5 x12& 3,600
O XNsx MEele DE Hyd A4 2 M| &2
2 &0 261,000& *x3H 43| 3,132
04 2H|5H01 bl 4,800 0 4,800
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EN: ANSKHEEANRA
HH: NHSSEANEL 2H
ol NEXES QAMHIA MB(REASSHSIH) (el &2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=] - T - = S = o = 0:”/&,% Wsa
O X=sxt&el 8&X HAst 1,600,000 *3H 4,800
303 LAZ2 4,000 8,000 A4,000
01 ZAZ2 4,000 8,000 A4,000
O BEE AQlag Ba ZTAD
400,000,000 *1% 4,000
HHSAAH| (KASXHEEARA) 157,533 125,551 31,982
J2HH(NSXASSMNEA)(WEANSEEFH) 120, 148 90,546 29,602
JI2ZH(NSIAE2SARA) 120, 148 90,546 29,602
201 B2 A | 43,024 42 732 292
01 AFR 22l d] 29,132 29,812 A680
O &3 JI2 ANEES 100,000& x17H 1,700
O SAsX 7 20,000% 108 A %12 2,400
O TRIE L WA ADE 2ol 350,000+183 6,300
O 9Bl A2E P(TE,8X,23)
910,000& 14! 910
O NsIsEZ 22X HE S(108)
40,000 x 161 « 128 7,680
O HAEIIH ZEAI HE S |-DEE #¢E
350,000& 13| 350
O dABSE M2 2 22 3,000 «1000H 300
O d=24J] 0 - 22l 25,000 x12& 300
O NANSAEEANEA 2HEEE 1Y (S =2
g = 72) 150,000 x12& 1,800
O Ro1&H =2 140,000 x12& 1,680
O NsHsEgR =& E2 A
7,000 *x17H 43| x12& 5,712
02 2239 13,892 12,920 972
O gINERE2 50,000& *x23| 100
O M3AIEE 80,000 *x2CH*x12& 1,920
O dMIIANEES 700,000 ~12& 8,400
O &ol=% AlE= 60,0008 x12& 720
O NSAASEENEA QMG HEEE =S
700,000& «13] 700
O 0ol Mg oIyl 3= 30,000 12& 360
O TVEblz 17,000+3CH x12& 612
O A== Ayl 100, 000& = 12& *90% 1,080
202 044 36,564 36,564 0
01 2 Yl 36,564 36,564 0
O NsAHsEdR =8 WAL
20,000 x18H x83| x12& 34,560
O AEIAH F=II& 02 & =820 Y|
20,000 x2H x23| x12& 960
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ANASAUHSEMNI A
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Ha: YA (KSUSSARL)
¢el: JI2ZH(NSNSEMRL)(RSALSESIH) (ehel: =3
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O d&X Ast =UHEZ 0]
261,000 »2& 23] 1,044
405 KtatE =S| 40,560 11,250 29,310
01 MY SFHSHI 40,560 11,250 29,310
O =AY 10,000,000 *2CH 20,000
O degl 2 3,000, 000& =2CH 6,000
O R dJES2EX 7Y 6,210,000+ 1CH 6,210
O 2REJIAH 2 500,000 = 1CH 500
O 15 Y IHESTEs d8H=200 £X 7,500
—SSYs Isdd ¥ =278, HX
2LIH 2,500, 0002 34 7,500
O EE =2 &X 350,000+ 14| 350
QlARIH(REANLELSIA) 37,385 35,005 2,380
eIz 37,385 35,005 2,380
101 @124 H| 37,385 35,005 2,380
03 RIHA2Z2XNE+ 37,385 35,005 2,380
OSME g8 EX 19,988
—Jl=2 39,6603 »1H 253 10,034
— =< 10,034,000 4/ 122 3,345
— =5+ 39,660 x1H +52& 2,063
— X< 39,6603 x1H 15 595
-tz 39,6603 2532 «1H «10% 1,004
—EEE+2 39,660 *253L x1H*15.81% 1,587
— = Al 80,000& x1H *12& 960
—FE SO 200,000 1 »23] 400
OXNsSisE NS ]2 22X 17,397
—JI=s 39,6603 x1H *253 10,034
—Jlgsdg 10,034,000 «4/ 128 3,345
— =54 39,660% x1H «52 2,063
— g X==g 39,6603 x1H *15& 595
—= Al 80,000& x1H +128 960
—ZE S0t 200,000 1 =23 400
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